DD3 XR1 ®
ETH TXDO
= 2(1) TXDO TXP_P g 1 .
e TXD1 TXM_N P
E El 19 ) 120N \ C251 0.4uF12 |
TH R RXP_P
ETH | -
TR 3 13 | rRxD0 RXM_N P> 94 oA 2
= RXD1
TR g 15— CRS-DV/PHYAD[1_0] REXT 9 R 4% 4 o8 3
= L RX-ER KSZ_LAN_LED
ETH MDIO 33 10 LEDO/ANEN-SPEED 28 = = C28 0.1uF 6 TrCB
MDIO
C .
= ) MDC VDD-1.2 [ _L _L 5d ToB 6
ETH_INTRP
P2 = 18_{ \NTRP VDDA-3.3 |2 522?1 OC.:z(l)JF RoE 8 1roe 4
ETH_50MHz_TO_STM I:é %
O = - 16! REF-CLK vopio |12 U rree
RST _ _ 2
s RST# 24 | per GND gg L4 600 Ohm/0.5A v 2y S 5
ETH 25MHz_to KSZ 8 GNDPAD | 8
O - o > XI - R31 TroD !
< | X0 c31 _L _1 c32 c33_L _I c34 7| e
KSZ8081RNAIA 0.1uF 22.0uF 0.1uF 22.0uF i
9
+3.3V PHYAD TrDD — 8
13 2;3
R36 R37 R38 | 14 | YEL K
PG ) YEL_A
1k 1k i \
| I .33y 76 | ORNI
ETH MDIO 0 | KSZ LAN_LED 17 | COM
) | GRN_t
ETHERNET PHY 0 * R40 rZ PMEG2010AEH Id 2
i 10k 0 JOG-0001NL @
0 VD3 "
RESET# M- RST#
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TXD is very weakly internally pulled up to VCCl. An external pullup [

resistor should be used to make sure that TXD is biased to

recessive

(high)

doesn't control the pin and TXD floats.
timing require special consideration when the device is used with an open-drain

TXD output on the CAN controller of the microprocessor. An adequate

level to avoid issues on the bus if the microprocessor
TXD pullup strength and CAN bit

external pullup resistor must be used to ensure that the TXD output of
the microprocessor maintains adequate bit timing input to the

-
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I10.0uF
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RESET mIeT Ha HOXKY
NIPEPEIBaHMs Ha KOHTpPOJIIEpe




